Name: Team:

No-Tech: Pre-Algebra

Task 1: Complete the one-step AND two-step equations
worksheets.

Choose (3) problems from each document to work out. Use
the guided/modeled problems on the notes as your example.

One-Step Equations Review
Two-Step Equations Review

Work out each problem (you must show work). Show your
work on a separate sheet of paper, if needed.(be sure to write
your name on the document - for credit for the assignment)

Task 2: Complete the multi-step equations AND equations
with variables on both sides worksheets. Choose (3)
problems from each document to work out.

Multi-Step Equations Review

Variables on Both Sides Review

Use the guided/modeled problems on the notes as your
example.

Work out each problem and answer the error analysis
problem/discussion problem (you must show work). Show
your work on a separate sheet of paper. (be sure to write
your name on the document - for credit for the assignment)



https://drive.google.com/file/d/150SUjrk60qnXv59FbFa27uj4QK3K2H71/view?usp=sharing
https://drive.google.com/file/d/1Mca65IvqDqVHhXCP-3L2KfjfFMcsXTxT/view?usp=sharing
https://drive.google.com/file/d/1Arq8MZlDC68jTmj3UcqA056_gvk5SifB/view?usp=sharing
https://drive.google.com/file/d/1kdgXA6KvBYke7LMCdfNL2pWDZZ-l_kjS/view?usp=sharing
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Solving One-Step Equations Review

Your Notes St LE Solve an equation using subtraction
Solve y + 3 = 10.
Solution
y+3=10 Write original equation.
Y+ 3~ i =10 - g Use subtraction property of
equality: Subtract i from
each side.
y= 1 Simplify.
The solution is ) .
CHECK
AT e e o + 3 =10 Write original equation
your solution in the - y q i
original equation j 1 +3z210 Substitute [ fory.
for accuracy.
IO =10V Solution checks.
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3¢ A Solve an equation using addition

Solvet — 9 = 11.
Solution
t—9=11 Write original equation.
= 9% ﬁ_ =11 + i Use addition property of
equality: Add EL to each
side.
t= Q0 Simplify.
The solution is A0 .
CHECK
f—-9=11 Write original equation.
A0—9 211 Substitute A for t.
[ | =11v Solution checks.
X
Your Notes ST CER Solve an equation using division
Solve 8x = 56.
_"\
The division Solution
g;ﬁ;?;yycoafn i | 8x = 56 Write original equation.
used to solve = 3 56
equations involving X = Use division property of equality:
multiplication. ‘ q ‘ ¢ Divide each side by £ .
N #
x= "] Simplify.
The solution is 1
CHECK
8x = 56 Write original equation.
8(71) 256 Substitute _/ for .
56 =56 Solution checks.

=
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Solve an equation using multiplication

| _-
Solve 5 = 12,
ﬁ'\
The multiplication Solution
property of equality
can be used to o - g =12 Write original equation.
solve equations
involving division. é . ; = i - 12  Use multiplication property of equality:
— Multiply each side by 5 .
a= L0 Simplify.
The solution is (0.
CHECK
-g— =12 Write original equation.
0
(’5 21492 Substitute (00 for a.
EQD =49 J Solution checks.
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Solve an equation by multiplying by a reciprocal

3, _
Solve gt = 6.

Solution

The coefficient of t is 5" The reciprocal of 5 IS A

gt =6 Write original equation.
& % gf =5 2’ 6  Multiply each side by the
1l 537%_: % reciprocal 7

CHECK
gt = Write original equation.
g(ﬁ) 26 Substitute & for t.
(a; =6V Solution checks.
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1. a+6 =17 2. b—17 = 12
3. -3=x+2 4, ¥+ 4 =58
b
5. 3x = 39 6.3=13
3
7. —24 = 4x 8. —gm=21
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Two-Step Equations Review

ST PR B Solve a two-step equation

N Solve 3x + 7 = 19.
When solving a
two-step equation, Solution

:EE]r;ttiI;;I:]etr:z L 3x+7=19 Write original equation.

reverse order of the 3x+7— | =19 — 7 Subtract 7 from each
order of operations. o -

iy ) side.
3x = 12 Simplify.
Bt Divide each side by 3 .
% 3
x=4 Simplify.
The solution is 4] .
CHECK
Ix+7=19 Write original equation.
3(Y)+7219 Substitute 1 for x.
[Z +7 219 Multiply 3 by .
[ o] =19 / Simplify. Solution checks.
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Solve a two-step equation by combining like terms
Solve 4a + 3a = 63.

Solution

4a + 3a = 63 Write original equation.
l = 63 Combine like terms.
la _ es Divide each side by /.
-/ =

a= 0\_ Simplify.
The solution is i
CHECK

4a + 3a = 63 Write original equation.
49)+3(9) 263 Substitute 7 fora.
AL +21 263  Mutipysby T and3by 9 .
(03 =63/ Add. Solution checks.

1.%—12=—5 2. 7k — 14 = 42

3.5z + 4z = 36 4. 5b—2b =9
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(.

Solving Multi-Step Equations Review

Solve an equation by combining like terms

Solve 3t + 5t — 5 = 11.

Solution
A+5H—=5=11 Write original equation.
’*Z.it —-5=11 Combine like terms.
k—5+i=11+.5_ Add S to each side.

At = L Simplify.

’21‘/ _ {35 Divide each side by f .

t= A Simplify.

The solution is AA.
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Solve an equation using the distributive property

Solve 5a + 3(a + 2) = 22.

Solution
Method 1 Method 2
Show All Steps Do Some Steps Mentally
5a+{(f+\2)=22 5a + 3@ +) = 22
5a+ 3a +b =22 5a+ 3G + b =22
86 +b =22 % + b =122
fa+lb-b =22-¢ o =16
Ya =16 a= A
Ja

-

a

3]
B

.

Multiply by a reciprocal to solve an equation
Solve 3(a — 5) = 9.

Solution

%(a -5 =9 Write original equation.

ﬂ& . %(a — B = t"/‘,5“ « 9 Multiply each side by i/Q

~\.D
o\¥

.
a—-5= (& Simplify.
a—-5+ 9 =12+ 5 Add D to each side.

5= 11 Simplify.
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(v Checkpoint Solve the equation. Check your solution.

1.9d —4d — 2 = 18

2.2x+7(x—3) =6

3.3w+4 +w= 36

4. 40 = 2(10 + 4k) + 2k

o Checkpoint Solve the equation. Check your solution.

5. J(4x —2) =7

6. 22y + 4) = 10
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Solving Equations with Variables on Both Sides Review
(3°C V%M Solve an equation with variables on both sides
Solve 15 + 4a = 9a — 5.

vl ™% Solution
Collect variables . s
SRSl 15+4a=9a -5 Write _orlgmal
the equation and equation.
constant terms on L_| _ _ _ o
constant fms O —>15 + 4a s =9a- Yo -5 Subtract ¢, from
equations with each side.
variables on both 15 = 6& -5 Simplify.
sides. —
s / 15+ 9 = G =5+ O AddS  to each side.
20 = Sa Simplify.
0
a = % Divide each side
5| |s byS
=a implify.
ki Simplify
The solution is Y .
CHECK
15+ 4a=9a -5 Write original
equation.
15+ 44 )294 )-5 Substitute L}_for a.
15+ b 2 3 -5 Multiply.
5 = 3 v Solution checks.
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3L TEY I Solve an equation with grouping symbols

Solve 4t — 12 = 6(t + 3).
Solution
4t — 12 = 6(f + 3)
at—-12= (4 + [Q
—-12=2X + )9
= O = b
=15 =t
SR

Write original equation.
Distributive property

Subtract 4_&, from each side.
Subtract ("R from each side.
Divide each side by .

a Checkpoint Solve the equation. Check your solution.

1.3b+7 =8b + 2

2.6d — 6 =>(4d + 8)
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o Checkpoint Solve the equation, if possible.

3. 5n+34=-2(1-1n)

4.p-1=5p+3p-8
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Multi-Step Equations Error Analysis

Problem and [ncorre

1c8 Solution

Explanation of Errors M
(some have mare than one

lade

mistake)

2x-2=14
-2 -2

2%

2

X

- |2
-
-6




